Kansas Corporation Commission Oil & Gas Conservation Division

ORIGINAL

Form ACO-1 June 2009 Form Must Be Typed Form must be Signed All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No. 15
Name: Knighton Oil Company, Inc.	Spot Description:
Address 1: 1700 N. Waterfront Parkway, Bldg. 100-A	E/2_SW_SW_SE_Sec. 33 Twp. 18 S. R. 30 East West
Address ² :	330 Feet from North / South Line of Section
City: Wichita State: KS Zip: 67206 +	2,183 Feet from ✓ East / ☐ West Line of Section
Contact Person: Earl M. Knighton, Jr	Footages Calculated from Nearest Outside Section Corner:
Phone: (316) 630-9905	□ NE □ NW ☑ SE □ SW
CONTRACTOR: License #_33575	County: Lane
Name: WW Drilling, LLC	Lease Name: Carolyn Well #: 3
Wellsite Geologist: Dave Montague	Field Name: Goering
Purchaser:	Producing Formation:
•	Elevation: Ground: 2881 Kelly Bushing: 2886
Designate Type of Completion:	Total Depth: 2195' Plug Back Total Depth: 2105'
✓ New Well Re-Entry Workover	Amount of Surface Pipe Set and Cemented at: 218' Feet
☐ Oil ☐ WSW ☑ SWD ☐ SIOW	
Gas D&A ENHR SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ✓ No
GSW Temp. Abd.	If yes, show depth set: Feet
CM (Coal Bed Methane) Cathodic Other (Core, Expl., etc.):	If Alternate II completion, cement circulated from:
	feet depth to: surface w/ 350 sx cmt.
If Workover/Re-entry: Old Well Info as follows:	
Operator:	Drilling Fluid Management Plan
Well Name:	(Data must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth:	Chloride content: ppm Fluid volume: bbls
☐ Deepening ☐ Re-perf. ☐ Conv. to ENHR ☐ Conv. to SWD	Dewatering method used:
Conv. to GSW	Location of fluid disposal if hauled offsite:
Plug Back: Plug Back Total Depth	·
Commingled Permit #:	Operator Name:
☐ Dual Completion Permit #:	Lease Name: License #:
✓ SWD Permit #:	QuarterSecTwpS. R East West
GSW Permit #:	County: Permit #:
6/17/2010 6/19/2010 7/8/2010	
Spud Date or Date Reached TD Completion Date or	
Kansas 67202, within 120 days of the spud date, recompletion, workover or or of side two of this form will be held confidential for a period of 12 months if rec	the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information quested in writing and submitted with the form (see rule 82-3-107 for confidengli report shall be attached with this form. ALL CEMENTING TICKETS MUST rm with all temporarily abandoned wells.
AFFIDAVIT	KCC Office Use ONLY
am the affiant and I hereby certify that all requirements of the statutes, rules and	Letter of Confidentiality Deceived
lations promulgated to regulate the oil and gas industry have been fully complied and the statements begein are copplete and correct to the best of my knowledg	1 Widi +4 _
and the diatements recent and competed and contact to the best of my knowledg	Confidential Release Date:
and de house	Wireline Log Received
Signature:	☐ Geologist Report Received
Title: David D. Montague (Geologist) Date: 8/10/2010	RECEIVED

AUG 1 1 2010

Side Two

Operator Name: Kni	ghton Oil Compa	ny, inc.	Lease N	Name: _	Carolyn		_ Well #:3_	
Sec. 33 Twp. 18	s. r. <u>30</u>	☐ East ✓ West	County	Lane				
time tool open and clo	sed, flowing and shu es if gas to surface te	d base of formations pe t-in pressures, whether st, along with final char- well site report.	shut-in press	sure reac	hed static level,	, hydrostatic pres	sures, bottom l	nole temperature, fluid
Drill Stem Tests Taker (Attach Additional S		Yes No		√ Lo		n (Top), Depth ar		Sample
Samples Sent to Geo	logical Survey	☐ Yes 🗸 No		Name Cedar			Top 1722	Datum +1164
Cores Taken Electric Log Run Electric Log Submitte (If no, Submit Copy	•	Yes No Yes No Yes No	No No					
List All E. Logs Run: Sonic Cement E	Bond Log & Gar	mma Ray / Neutro	on Log					
M.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		CASING Report all strings set	3 RECORD	✓ Ne		ion. etc.		
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weig Lbs./	jht	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
Surface Pipe	12 1/4"	8 5/8"	23#		218'	Common	165	3%CC, 2% gel
Production Pipe	7 7/8"	5 1/2"	14#		2105'	Common	350	ALW Class A
		ADDITIONA	AL CEMENTIN	NG / SQU	EEZE RECORD			
Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone	Depth Top Bottom	Type of Cement	# Sacks	Used		Type and I	Percent Additives	3
Shots Per Foot		ON RECORD - Bridge Plu Footage of Each Interval Pe				cture, Shot, Cemen		rd Depth
2	Cedar Hills 1760	to 1850						
TUBING RECORD:	Size: 2 3/8"	Set At: 1730'	Packer At 1730'	t:	Liner Run:	Yes No)	
Date of First, Resumed August 10, 2010	Production, SWD or EN	IHR. Producing Me	ethod:	g 🗌	Gas Lift 🔲 (Other (Explain)		
Estimated Production Per 24 Hours	Oil	Bbls. Gas	Mcf	Wate	er B	ibls.	Gas-Oil Ratio	Gravity
Vented Solo	ON OF GAS: Used on Lease	Open Hole Other (Specify)	METHOD OF		Comp. Co	mmingled mmit ACO-4)	PRODUCTI	ON INTERVAL:

Mail to: KCC - Conservation Division, 130 S. Market - Room 2078, Wichita, Kansas 67202

RECEIVED



PO BOX 31 Russell, KS 67665

Voice:

(785) 483-3887

Fax:

(785) 483-5566

Bill To:

Knighton Oil Co., Inc. 1700 No. Waterfront Parkway Building #100 - Suite A Wichita, KS 67206

INVOICE

Invoice Number: 123109

Invoice Date: Jun 17, 2010

Page:

e: '

Customer ID	Well Name# or Customer P.O.	Payment	Terms
Knig	Carolyn #3	Net 30	Days •
Job Location	Camp Location	Service Date	Due Date
KS1-01	Oakley	Jun 17, 2010	7/17/10

Quantity	Item	Description	Unit Price	Amount
165.00	A	Class A Common	15.45	2,549.25
3.00	MAT	Gel	20.80	62.40
6.00	MAT	Chloride	58.20	349.20
174.00	SER	Handling	2.40	417.60
45.00	SER	Mileage 174 sx @.10 per sk per mi (***)	17.40	783.00
1.00	SER	Surface	1,018.00	1,018.00
45.00	SER	Surface Pump Truck Mileage	7.00	315.00
		Caroly Surface 71410		
•				RECEIVED
	:			AUG 1 1 2010
. •				KCC WICHITA
		Subtotal	<u> </u>	5,494.45
ALL PRICES	ARE NET, PAYA	BLE		450.00

ALL PRICES ARE NET, PAYABLE
30 DAYS FOLLOWING DATE OF
INVOICE. 1 1/2% CHARGED
THEREAFTER: IF ACCOUNT IS
EURRENT, TAKE DISCOUNT OF

\$ 1373 61

ONLY IF PAID ON OR BEFORE
Jul-12, 2010

*		THOUSE OF THE
Subtotal		5,494.45
Sales Tax		156.93
Total Invoice Amo	ount	5,651.38
Payment/Credit A	pplied	
TOTAL		5,651.38
2		

4277.77



E of V



PO BOX 31 Russell, KS 67665

Voice:

(785) 483-3887

Fax:

(785) 483-5566

Bill To:

Knighton Oil Co., Inc.

1700 No. Waterfront Parkway Building #100 - Suite A Wichita, KS 67206

4	N	W	0	4,00	C	
---	---	---	---	------	---	--

Invoice Number: 123161

Invoice Date: Jun 18, 2010

Page:

Customer ID Well Name# or Customer P.O. Payment Terms					
Knig	Carolyn #3	Net 30	Days		
Job Location	Camp Location	Service Date	Due Date		
KS1-02	Oakley	Jun 18, 2010	7/18/10		

Quantity	Item	Description	Unit Price	Amount
100.00	MAT .	Class A Common	15.45	1,545.00
300.00	MAT	ALW Class A	14.05	4,215.00
83.00	MAT	Flo Seal	2.50	207.50
403.00	SER	Handling	2.40	967.20
45.00	SER	Mileage 403 sx @.10 per sk per mi	40.30	1,813.50
1.00	SER	Production Casing	2,011.00	2,011.00
45.00	SER	Pump Truck Mileage	7.00	315.00
1.00	EQP	5.5 Latch Down Assembly	164.00	164.00
3.00	EQP	5.5 Centralizer	35.00	105.00
1.00	EQP	5.5 Tri Plex Shoe	896.00	896.00
		5.5 Centralizer 5.5 Tri Plex Shoe TOC Carolyn Carolyn Comment Production Comment		RECEIVED AUG 1 1 2010 CC WICHITA
ALL BRICES	ADENET DAVA	Subtotal		12,239.20

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 3059 80

ONLY IF PAID ON OR BEFORE
Jul 13, 2010

Subtotal	12,239.20
Sales Tax	378.02
Total Invoice Amount	12,617.22
Payment/Credit Applied	·
TOTAL	12.617.22

WELL FILE

9557 434

ALLIEL CEMENTING C.J., LLC. 038882

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SER	VICE POINT:	ly/
DATE 4/10/10 SEC. TWP. PRANGE 30 C	ALLED OUT ON LOCATION	JOB START	JOB FINISH
		6:000	6:12 p-
LEASE CORD YM WELL# 3 LOCATION Am 1	14W 45 1/14W	COUNTY	STATE
OLD OR NEW (Circle one)	() The		
OLD OR NEW (Circle one)	into	J	
CONTRACTOR WW 10	OWNER Same		
TYPE OF JOB U. Swier			
HOLE SIZE 12/12 T.D. 2/9	CEMENT		
CASING SIZE 87/8 DEPTH 2/8	AMOUNT ORDERED 165	lon 300	200
TUBING SIZE DEPTH		20700	Zel
DRILL PIPE DEPTH			
TOOL DEPTH	115	11-45	25.25
PRES. MAX MINIMUM	COMMON_/65	_@/>	2549
MEAS. LINE SHOE JOINT	POZMIX	_@&	-13 40
CEMENT LEFT IN CSG. / >	GEL 5	-@ du jo	3119
DISPLACEMENT /2.93	CHLORIDE 6	@ <i>5}</i>	377
	ASC		
EQUIPMENT			
		 @	
PUMPTRUCK CEMENTER Hu		@	
# () HELPER Hayne			
BULK TRUCK	-		
# J J DRIVER // BULK TRUCK		@	
# DRIVER		_@ <i>y</i> /_	
BRIVER	HANDLING / //	@	20100
REMARKS:	MILEAGE/D&SK/MILE		100 95
	·		4161
Chrest D. d. Cicin att	SERV	ICE	
Chen B. S. Cicin all	DEPTH OF JOB	ICE	,010
Cened B. d. Cicin att	DEPTH OF JOBPUMP TRUCK CHARGE		10/80
Cened B. S. Cicin ale	DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE		10/8-
Then won will	DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE/ \(\subseteq \)	@ @	10/80
Cened 6. d Cicin ale	DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE	@ @	10/80
Then wan with	DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE/ \(\subseteq \)	@	10/8°
Charles Side Company (1)	DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE/ \(\subseteq \)	@ @	10/8°
Charge to: Knighton Oil Co	DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE/ \(\subseteq \)	@ @ @	10/18°
Chen B. S. Cicin (all Then Kyon Min Win) CHARGE TO: Knighton Oil Co STREET	DEPTH OF JOB	@ @ @	10185
•	DEPTH OF JOB	@	10/80
STREET	DEPTH OF JOB	@	10/8°- -315°CO -315°CO
STREET	DEPTH OF JOB	— @	10/8°- -315°CO -315°CO
STREETSTATEZIP	DEPTH OF JOB	TOTAL TEQUIPMEN	10/18 ²
STREET STATE ZIP —To-Allied Cementing Co., LLC.	DEPTH OF JOB	@	10/18 ²
CITYSTATEZIP To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment	DEPTH OF JOB	TOTAL TEQUIPMEN	10/18 ²
CITY STATE ZIP To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or	DEPTH OF JOB	TOTAL TEQUIPMEN	10/8°
CITYSTATEZIP To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was	DEPTH OF JOB	TOTAL TEQUIPMEN @ @ ### A Company of the Company	1018°
CITYSTATEZIP	DEPTH OF JOB	TOTAL TEQUIPMEN	1018°
To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL"	DEPTH OF JOB	TOTAL TOTAL TOTAL	1018°
CITYSTATEZIP	DEPTH OF JOB	TOTAL TOTAL TOTAL TOTAL	1018C
To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	DEPTH OF JOB	TOTAL TOTAL TOTAL TOTAL	1018C
To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL"	DEPTH OF JOB	TOTAL TOTAL TOTAL	10182 -31500 133300 TT

WELL FILE

ALLIEL CEMENTING C.J., LLC. 038885

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	S J	ERVICE POINT: QaKlay KS
DATE 6/8/10 SEC. TWP RANGE C.	ALLED OUT ON LOCATIO	12:30A 1:30Am
LEASE WELL# S LOCATION Amy OLD OR NEW Circle one)	1/2W 45 13/41	V COUNTY STATE
CONTRACTOR WW 10	OWNER SA	
TYPE OF JOB Production	OWNER	
HOLE SIZE $7^{1/8}$ T.D. $2/$	CEMENT	
CASING SIZE 5/2 14/6 DEPTH 2105	AMOUNT ORDERED 330	75K, ALW 14/16
TUBING SIZE DEPTH	F10 Sed, 100 sk	com,
DRILL PIPE DEPTH TOOL DEPTH		· · · · · · · · · · · · · · · · · · ·
PRES. MAX MINIMUM	COMMON	@1545 1545 W
MEAS. LINE a SHOE JOINT 3/3	POZMIX	
CEMENT LEFT IN CSG. 3/-	GEL	@
PERFS.	CHLORIDE	@
DISPLACEMENT	ASC	
EQUIPMENT	11111 20011	- @ 11105 1121CO
	ALW - 3003K)	@ 14= 42/5
PUMPTRUCK CEMENTER HUM	Of Flo Sail 83 Ch	(5 @ 250 20) 50
# 41 HELPER Way N	ANTIV DEM OUT	@
BULK TRUCK		@
# 54 / DRIVER RULK TRUCK		@
# 391/ DRIVER FIRE	1000	_ @ _ 40 20
- Orland	HANDLING 4035/S	@ 0 96) 50
REMARKS:	MILEAGE/D45K/m/L	1815 -00
An 51/2 into Hole, Open Tryplex, Circulate 1hr, My 305Ks Mat Hole, My 3005Ks	SEI	TOTALS 198
Diale Plus Deatch Man W/51	DEPTH OF JOB	2105
BBL HOO a 200 PST CIPT. Janel	PUMP TRUCK CHARGE	20118
Pluga 1500 PSI Float Hell	, EXTRA FOOTAGE	@
coment Did Cicay late	MILEAGE 45	@ > 315
thut to	MANIFOLD	
Alan, way N, Kelly, Fuzzy		
1/1/2/2011		@
CHARGE TO: KNIGATON B,		222/00
STREET		TOTAL 2326
CITYSTATEZIP	•	
STATEZIF	PLUG & FLO	OAT EQUIPMENT
	Latch Dans ASSALO	h @16400 169
	Contralizers -3	@35 105 00
To-Allied Cementing Co., LLC.	Tri Plex Shol	<u> @896 8969</u>
You are hereby requested to rent cementing equipment		@
and furnish cementer and helper(s) to assist owner or		@
contractor to do work as is listed. The above work was	•	111 00
done to satisfaction and supervision of owner agent or		TOTAL 1465
contractor. I have read and understand the "GENERAL	CALECTAV (If A)	
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any)	•
	TOTAL CHARGES	
	TOTAL CHARGES	
PRINTED NAME		IF PAID IN 30 DAYS
PRINTED NAME	DISCOUNT	IF PAID IN 30 DAYS
SIGNATURE SIGNATURE	DISCOUNTRECEIVED	IF PAID IN 30 DAYS

KCC WICHITA